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= ! Discussion Section: *

=

e You have 50 minutes for this exam.

e Show all work, clearly and in crder, if you want to get full credit. | reserve
the right to take off points if | cannot see how you arrived at your answer

(even if your final answer is correct).

e Circle or otherwise indicate your final answers. If you use the back of a page
please indicate that you have work on the reverse side.

e You may not use books, notes, cal
elp during this exam. You may not c
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way during this exam.
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1. True or False questions (10 points total); circle “T" if the item is true or 15881
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a. (2 points) If the matrix A represents a rotation through /2 and the

matrix B a rotation through /4, then A and B are similar.
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b. (2 points) If A and B are similar, and A is invertible, then B must be

the item is false.

invertible as well. A ad ok
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c. (2 points) If A is an invertible matrix, then the equation (47*)" = -3l -

ﬂ1

AT)™* must hold. (ecfon 55 (st fomr 2 2|3




2. (10 points) Suppose that
% > 0 1) >
— — X
T{x) = A% _5 3
Is a linear transformation expressed as the matrix A with respect to the
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standard basis S = (&,,85). Let B = (v,,¥,) = 1) : (i be another

e N ; L) - (
basns for ]Rz. - {=<A¢ s [ \Jj T hey

transformation T as a matrix with respect to the basis B.
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3. (10 points total) Let A = ( =4
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\ a. (7 points) Find th@ompgsition
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b. ( 3 po i nts) Fi_n_- th‘e’&
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y-1 = 3
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4. (10 points) Find the equation of the line whic in the least squares 7~

sense, the following points in the ‘x, y'-plane: (=1, —1), (0,1), (1,4).
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